H & 0l & AHS B Ml A

2043 = 20iaH LB
il
2gH(=sEH
=3 (Erol &)
L EE . G (3) - NRAY - HAS ol ke G o HlmS2
=28H 644,076 717,289 AT73,213
HYSHZH(SEH) 86,022 89,746 N3,724
JlE2&H| 86,022 89,746 A3, 724
J1E23H| 86,022 89,746 N3, 724
201 L2 | 31,962 31,976 A4
01 At 22|l 16,951 17,153 A202
OJIZ2AIRESHI 30,0002 *15H 450
OAB4 SE7HI 50,0003 *12& 600
OAx2H 4| 50,0002 x12& 600
OrI2F=sR 10,0003 x5+ 122 600
Os2s M& 1,210
—==0 W& 110,000& *52| 550
—d==0 W& 66,0002 103 660
OMYIISE 7 1,300 *300& 390
Ostm=s 79 315
—0f 6.50021%3025 196
—4 2,000 60% 120
OARA et
12,0002 x30 2+ 123 432
OAIR4! g 95,0002 *23] 190
OAR4 = 30,3002+ 122 364
OH=7] 72 1,200,000& 1,200
OAIZ| ¢ 1,200,000& 1,200
Oglaa =go =271 2l 900
—El+g 350,000 *23| 700
—JIEIA2SE 200,000& 200
OJ|2g=d 7,200,000& 7,200
OYRFAEA 20,0002 x53 100
OgexzdNR 30,0002 *4J4 120
onaz224 30,0003 +3 123 1,080
02 2324l 15,011 14,823 188
ORELSAES 15,0002 * 122] 180
ogdExtE ASX 30,0002 1CH 30
Ot RLdza(MHsSAHE)
50,0002 *23] 100
ORERZ 1,078
-3 2,180&x2508 545
— Bt 4002 +1,000S 400
—SJ|gsa 1,900 *70S 133
Oo&IIS 1,000,000& =123 12,000
O=&Ee3 100,000& *12& 1,200
Oolaal dlarg 35,2003+ 12& 423




2N 2B
M HYRAZHI(SEY)
=l Jl=3H| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 41,810 44,840 23,030
01 =LHAHI 2,210 2,600 A30
OJlEs8 =] 2,210,000& 2,210
02 A0 39,600 42,240 A2,640
OZH048I 220,000 x 15« 123 39,600
203 =4l 10,200 10,880 680
01 1228 R=a| 6,600 6,600 0
ogd 6,600,000 6,600
02 SRItAA =] 600 680 280
OXE ADIAE H2I1E82 S A&
40,0002 <15 600
MU A2 LRFAI 3,000 3,600 A600
ORANEgg =AY 250,000 x 122 3,000
204 MR AH| 1,800 1,800
01 MM SR+ 1,800 1,800
ogd 150,000& «1&~ 122 1,800
405 KHakE SH 250 250
01 AL =S F = 250 250
Oulgal o1z AHY 7Y
250,000 *1CH 250
SEW Fodz Ho) X 558,054 627,543 169,489
deetF3 g 296,687 376,267 A\T9,580
2 & Zetk2el 47,909 52,510 24,601
101 e124d| 2,090 2,041 49
M ORNZZ2NSE S 2,090 2,041 49
ONExY & 8257 AFY
101,680 x4 +5& 2,034
OL==¥=3 2,034,000 %2.75% 5
201 er2 3| 166 316 A150
02 S3=gHl 166 316 A150
OM=HY UFI| FF2Y 166
—3E= 1,500 +50 £ *2CH 150
—2¢ 3,800& x2JH =2CH 16
206 M=l 653 1,153 A500
01 MZH| 653 1,153 A500
OZEH s&7¢ ¢
—MYDISE(502IE)
1,300 *30H*3 2 +32] 36
—E Ml OHCH(40kg)
2,300 *301*32 *32 63
ON&E gatzs-d 25,0003 »20% 500
Ox2E7Y 2,000 x35+3&*32] A
307 @120l & 6,000 10,000 24,000




2N S8
M 220 FOIME HOl ZZ
Rl dEetd g (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
05 QIZtRES 6,000 10,000 A4,000
OYADIA E28 S%el)|
6,000,000& 6,000
401 A& B2 20HY| 39,000 39,000
01 AlEHI 39,000 39,000
ON&E&Y &l eXt=
1,000,000 *13| 1,000
O&z 2 =2 3|
30,000,000 * 14 30,000
OSEH MY A& 24 o J|
8,000,000 14 8,000
FR=RAE 226,620 251,800 A25,180
401 Al&HIZ 20| 226,620 251,800 225,180
01 AlEHI 225,000 250,000 225,000
O=2EH ME0I@ AltEs
13,500,000 13,500
OE&OtE ot =2 FHIZA
13,500,000& 13,500
O& =202 ot OtAE EEIBAL
18,000,000 18,000
OdHEOtE Asta ZHISA
13,500,000 13,500
O==0t= ot2 ZHIBA
13,500,000& 13,500
OretitE =2 EHISA
13,500,000 13,500
O2Adtits =2 ZESAM
18,000,000 18,000
O=s0t23l& OtAE ZESAL
13,500,000& 13,500
OY=(XE)0IS =2 HUISAH
13,500,000 13,500
O=g0t2 =2 ZHISA
13,500,000 13,500
OJfelits otd ZHIBA
13,500,000& 13,500
Otiots otd ZHISA 9,000,000& 9,000
OZZ0t2 71 HHI3At
18,000,000 18,000
O=2=0t= =2 FHISAM
18,000,000 18,000
OHEOIS =2 FHISA
9,000,000& 9,000
OZ30t2 =& ZdISA
4,500,000& 4,500
O2=0ts =XE ZHISA
9,000,000& 9,000
03 Al 2 CHYI 1,620 1,800 A180




2N S8
Nu: 2=0 FOME Bl X
Rl dEetd g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFUSHAY A&
225,000,000&%0.72% 1,620
224 Mg 22,158 21,957 201
101 @1A4H| 21,670 21,153 517
04 JIZtNZ22 XS 2+ 21,670 21,153 517
Ox=z¥ 22 FxMA=I)eIFY
193,440 x5 » 15 14,508
OURAN (AR ol
87,7602 58 152 6,582
OL==¥=3 21,090, 0002 *2.75% 580
206 MH=H| 488 804 A316
01 M=4l 488 804 A316
OFZMHE M=M 2L
10,000& #1074 2% 12 100
OZZ X4 Hz 7 10,0003 20X 200
O22xd vy 7 2,500& = 75E} 188
AR Hodd 29 261,367 251,276 10,091
S.cl.eryEs=2y 129,720 123,480 6,240
301 EtE N = 129,720 123,480 6,240
07 S8 -0 - 2243 123,480 123,480 0
ool 121,680
—Jl2+¢ 300,000 x26E «12& 93,600
—d0=2 300,000 x26E *23] 15,600
RS
20,0003 x26ZH+23|x 12 12,480
ogtd=g 25,0008 %23 36 1,800
14 0Bt 2as 6,240 0 6,240
OO0y Syl 20,0003 x26E « 128 6,240
AL 0 =024 28,89% 25,544 3,351
201 el 10,020 13,220 23,200
01 At22t2lt] 10,020 13,220 23,200
OFDHOOAEA XH3|0 Hang
0,000& 10L& »23] 400
O=CXXIRAZE sloEA ¢
20,0003 * 19232 1,140
O=F2UXNXIASE At X2
600,000 %12 600
OXS At 2HE2AM 22AFHA =&
20,0003 11243 880
OsXAYE 3oFA =&
100,000 x5 x 143 7,000
301 22N = 18,875 12,324 6,551
11 AALEIXIES 955 1,124 A169
OH¥E3| & ASHAEA F012d
385,000& %12 385
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Hlw

6,720
9,060

HMEE
Ofl &k2h

11,200
20,722
902
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12,032
2,432

Ofl &F2H

570
17,920
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4,480
4,480
4,480
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924
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899

25
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320

260

264

250
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500

20,756

- ESS

- SRA(3) - HIRAEY

S - B

2]
|
|
|
|

25,0002 10K

2

3

2

=l

1,168,000
42,0003 * 148t A

30,0002 19
1,300 +200%

80,0003 #56
80,000& %56
80,0002 *56

80,0003 #56
40,0002 82 A

149, 7603 +3& 2
899,000&+2.75%
22,0003 *3JH 2-%4

te|dl

2
i}

|.
el
HEELS
dlIs&
FEA Hid)
I 2

— o
[l

b

en)

OFA

el

04 JIZtHN2Z2 S8+
—M

14 J|Et
01 AFS2t2ltl

A=K
101 Q124H|

50,000& *5H

[
0y

0o
U

Y
o

12
12

A9,060

9,600
788
788

7,000

7,000

1,860
7,200
540
300
240
800
800
450
100
250
7,000
7,000
5,000

60,000 *4CH

3

5

500,000 *14]
300,000 1
150, 000& *3H
100,000& *1
2,500 «100Et

155,000& « 122
600,000& 123

5,000,000 * 14!

F=Xl2elt]

el =Xl

e

4 AF2
=I]
206 MZ Bl

X

OFAF =HS(LED) 7

01 XH=4l
01 AlZHI

O

401 AIEHIZL R OHYI




2N 2B
M 220 FOIME HOl ZX
e A B =29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SETFEEREE
1,000,000 *23] 2,000
At A2l 2,553 2,553
201 er=23y| 2,553 2,553
02 S3=gHl 2,553 2,553
OXg ==l 2,103,000 2,103
Oxtgr= Al 450,000 450
H=AlE X2 4,280 2,280 2,000
201 er2 3| 2,280 2,280 0
2 35244l 2,280 2,280 0
OHSAE |AZH(HIIZ )
190,000& * 122 2,280
401 AIZHIX S0HH 2,000 2,000
01 AlZ2H| 2,000 2,000
OsUIM=AIE =2ltl 2,000,000 2,000
SEXL2 29 33,217 30,781 2,436
201 =3 29,667 27,231 2,436
01 At22t2lt] 15,882 1,650 14,232
Ox&2 o3 22F 7Y 1,418
—822 3FX 42,0003 148 A 588
—BHEES 40,0002 82 A 320
—&dPDISE 1,300 %2002 260
—HAES 10,0003 *55+53] 250
O&=J| 2eld 19,3002« 10412 232
ONSEEAE 2e|
88,0002 123 1,056
Ostdd 34 9 900,000& * 128 10,800
OAgAIE ettt ES
198,000« 12& 2,376
02 S5=2g4l 13,785 25,581 A11,796
OFSPIEei=) 1,000,000& «12& 12,000
Odotr=ER= 100,000& * 12 1,200
OAHOIEVAIEZ 15,0002~ 128 180
Od2 =Xl 405,000 *14] 405
206 M=l 550 550
01 MZH| 550 550
Oxd= & atttaie] 423 2
400,000 14 400
OxZS(8Zs, g2 7Y)
10,0002 *15H 150
401 AIEHIZ SR OHYI 3,000 3,000
01 Al&HI 3,000 3,000
O£ A28 & |2
3,000,000 14| 3,000




2N S8
M 220 FOIME HOl ZX
&2 AL FOHHE 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
WEII=XHEH 29 41,946 45,916 23,970
201 LB-2AH| 36,946 40,916 23,970
01 AtR2telt] 24,766 11,540 13,226
OQuUEEI=AHEH 28 4288 7L
200,000& =123 2,400
Ot&a ARE 7 1,770
—&2E &N 42,0003 #108f A 420
—HEES 40,0003 »9et A 360
—MEDI=SE 1,300 *300& 390
—HAES 50,0003 *12& 600
Odlal 2teld| 20,0002 x8IH A+ 12 1,920
OF==D| &2yl 30,0002 x5 A+ 12 1,800
O&=J| HIXl d3lg 235 7
10,000& x50 A% 122 600
OZgH &Y P2 200,000& *33| 600
OuU=s2Y ESFY(BCH S)
1,000,000 *14! 1,000
OFL 29 700,000 =12 8,400
OXsEEAIL 22l 29
155,000& « 12& 1,860
OAYAIE S22t @Y
198,000& x 123 2,376
OsdI| A& 284
170,000& x 123 2,040
02 32| 12,180 29,376 A17,196
O&IIRS 800,000& =123 9,600
O&ot=E 23 200,000& =123 2,400
OAOIETV AlIEZ 15,000& * 12& 180
401 AIEHIZL 200 5,000 5,000
01 AlEHI 5,000 5,000
OdIEH sXl2eldl 5,000,000 * 14| 5,000




